Fermat’s Last Theorem

Hajime Mashima

Abstract

About 380 years ago, Pierre de Fermat wrote the following idea to
Diophantus’s ” Arithmetica”.

Cubum autem in duos cubos, aut quadratoquadratum in duos quadra-
toquadratos, et generaliter nullam in infinitum ultra quadratum potes-
tatem in duos eiusdem nominis fas est dividere cuius rei demonstrationem
mirabilem sane detexi. Hanc marginis exiguitas non caperet.

Later, this proposition(Fermat’s Last Theorem) has continued to be a
presence, such as the One Ring that appeared in J-R-R-Tolkien’s ”Lord
of the Rings”. Finally in 1994, it has been proven by Sir Andrew Wiles.
However, interesting Fermat’s proof is still unknown. Perhaps this is as-
sumed to algebra category.
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Theorem 1 (Fermat’s Last Theorem)
HRE n OFIZDOWT, UTOERE W29 x,y, 2 O HARBIRIZFEL W,
2" +yt £ O<z<y<z, n=3)
LN EFAETH 5,
P HyP AP (p23, x,y, 2 EF—DOMEHRTHWIZE)

1.1 (IMEE#:

Definition 2
01 xyz

01 zyz 51X, TOYWTLHEETEIDOTUTDLSICRT I ENTE S,

P +yP =2z mod¥f
sz~ 4t =uyP™t mod @
szP7totaPml = aPy? mod 6
stzP~1 =ay? mod 0
taP~touyP™t = yPzP mod 6
tuaP~1 =yzP mod 6
s2P~louyP™t = 2PzP mod 6
suyP~! =2Pz mod 6

szP7hotaPTluyPTl = 2PyP2P mod 6

stu =axyz mod @



s2P71 4 taP™t = uyP™! mod 6

tu- 52?7+ PuaP ! = tuyP"t mod 0
(4) &b

zyz? + tPurP™t = tu*yP~! mod 0
zy(2? +yP) + tur? ™! = tu*y?~' mod 0
2Py + oyP T 4 PugP! = tu®yP"! mod 6
2Py + 2uaP = tuyP ! — 2Pt mod 6
2Py 4 2ugP~l = P (tu? — 2y?) mod 6

tl‘P—l(xp-‘rly +t- tuxp—l) = yp—l(t2u2xp—1 _ ny . t.’l?p_l) mod 0
2) &b

taP~ (2P Ty 4 ty2P) = yPH (tu - y2P — taPy?) mod 6
taP~ (2P Ty 4 ty2P) = yP (tuz? — tzPy) mod

2Py + tyzP = tuzP — taPy mod 0
2Py + taPy = tuz? — tyz? mod 0

2P (zy + ty) = 2P (tuz — tyz) mod 0
2P (szy + sty) = s2P 1 (tuz — tyz) mod @

sy(x+t) =tz(u—y) mod 0

sy(aP +taP~ 1) = txp_lz(u —y) mod 6
sy(z? + yP) = yPz(u —y) mod 0
syz = yPz(u —y) mod 0

s2P 7t =yP Y (u—y) mod @

2P =yP Y(u—y) mod g (5)



Eif=3e

s2P7t ptaP = wyP~! mod 0

$2t2P7 4 ost?aP 7l = st uyP™t mod @

s2t2P71 4 st?2P7l = 22yP mod 6

s2t2P1 4 st?2P™ = 12(2P — 2P) mod 0

$2tzP7 4 st?aPt = 2Pt — 2Ptz mod 0
2Pz 4 st22P = 22PT — %2271 mod 6
2PN (2?2 + st?) = 22PN — s%2P71 mod @

2P (5w 2P 4§22 2P = 5P (w2P T — 5. st2P7) mod 0

1) &0

2P (s2?2P 4 st - ayP) = 52PN (@2PT — szyP)  mod 6

2P (sx2P + styP) = s2P 1 (2P — s2yP)  mod 0

sxzP + sty = x2PT — szy?  mod 6
sty? + szy? = z2PTH — szzP  mod 6
yP sty + sxy) = 2P (xz — sx) mod 0

uy? ! (sty + sxy) = 2P (urz — suxr) mod 0

sy(t+z) =ux(z —s) mod

2PNt + ) =2 mod 0 (6)



Eif=3e

2Pt ptaP = uyP~t mod 0

sSPuzP 7t 4 su-taP ! = suyP"t mod @

s2uzP! 4 yza? = suyP”! mod @

2Pt fyz(2P — o) = suyP™' mod @

SPuzPl 4 y2Pt — Pl = su?yP™! mod 6
SPuzP 4 y2Pt = su?yP 7t + P2 mod 6

P72 u + y2?) = su’yP "+ 4Pz mod 6

P72y FuyP2?) = wyP (u - suyP T+ yPT2) mod 6
3) &b
P N (suxPz + uyP2?) = uyP H(uaPz 4+ yPT1z) mod
2P (sua? + uyPz) = uy? ' (uaPz + yPT'z) mod

p+1

sux? +uyPz =uaPz +yP7 2 mod 6

suz? —uaPz = yPTlz —uwyPz mod 0
2P~ (sux — urz) = yP(yz — uz) mod 0

taP~ (sux — uxz) = yP(tyz — tuz) mod 0

ux(s —z) =tz(y —u) mod 0

uyP (s — 2) = tz(y? —uy?™!) mod
2Pr(s —z) =tz(y? —2P) mod 0
2P la(s — 2) = —taP mod 6
2P s —2) = —taP~' mod 0

27z —5)=y” mod f



15 xP yP 2P IZDWTHIAHE S 2 k‘17k27k3(J_ 9) ZIRET B, DFED
y? — 2P = —2P mod 0
kiy? — kozP = —k3a? mod 0
2P +yP = 2P mod 6
(5)(6)(7) £
2Pt ptaP = uyP™t mod 0

(u—y)yP '+ (z— )PP = (t+2)2P"" mod 0

uw—y=kiy mod?¥
u= (k1 +1)y mod?8
z—8=—koz mod¥6
s=(ka+1)z mod 6
t+x=—ksx mod 0
=—(ks+ 1)z mod 0

UF, 3RXOBHEIZAFRTH S,

a? +yP =2z mod 6
(ke +1)22 —(ks+ 1zP = (k1 +1)y* mod 6
kiyP —ko 2P = —kszP mod 0 (9)

P = k1y? mod 6
—ksx? = —k3kiy? mod 0
(k1 4+ 1)y? = —k3kiy? mod 0
(k1 + 1+ kiks)y? =0 mod 6
(ki(ks+ 1)+ 1)y?P =0 mod 6

y? = —koz? mod 0
k1y? = —k1kozP mod 6
(ko + 1)2P = —k1k22” mod 6

(kg + 1+ kle)Zp =0 mod?¥#
(k2(k1+1)+1)2P =0 mod 0
2P = —ksxP mod 6

—kozP = koksxP mod 6

—(ks + 1)zP = koksz? mod 0
(ks + 14 koks)z? =0 mod 0
(ks(ka+ 1)+ 1)2P =0 mod 6



2P = k1y? mod 6
—k3x? = —ksk1y? mod 6
—kskiy” mod 0
—kozP = k3kokiy? mod 6

yP = kikoksy? mod 6

P

kikoks =1 mod 6 (10)

1.1.1 kl %kg i’gkg mod 6
A DR k 1281 DAL DZ 5

xP +yP =27 mod 0
kiy? —kozP = —k3zP mod 6
(kgkg)klyp —(k1k3)k2zp = —(klkg)k;gxp mod 6
(10) &9
yP —2P =—2P mod 0
1.1.2 Kk =kh=k; mod¥d
HEORE K B DAL RDELR
P +yP =2z mod #
kiy?  —kozP = —kza? mod 6
(koks)k1y? —k3ksz? = —kok2a? mod
(10) &9
yP  —k3ksz? = —kgk2azP mod 6

HEOMzE K LEL &

k2K, =1 mod ¢’
EykZ =1 mod ¢’

kKL = Kbk mod 6
kb =k; mod ¢

Kl BRKRZDTUTDO LS I2H1T 5,

ki=ky=ki=Fk mod¢

(10) & b
E®*=1 mod ¢ (11)



(11) (23D TRAZ M R T,

P 4yP
KyP  —k 2P
Ey? =
—k' 2P =
—k'2P =
O
k2P =
Ky =
k2P =
O
K- —2P =
k/ . Ip —
k- —yP =
O
_k/ . yp =
—k =P =
—K - —aP =
O
K- —aP =
k- —yP =
K —zP =
O
—k' 2P =
—K - —aP =
O
K-y =
K- —zP =
kK —aP =

=2P mod ¢

—k'2? mod ¢

|

2P mod ¢

y? mod 0’
2P mod 0’
—2P mod ¢’
2P mod ¢
—y? mod ¢’
y? mod 0’
—2P mod ¢’
—zP mod '
—zP mod 0§’
—y? mod ¢’
—2P mod ¢’
2P mod ¢
—zP mod '
y? mod ¢’
y? mod @’
—2P mod ¢’
—zP mod '

2P mod ¢
y? mod ¢’

2P mod ¢



Proposition 3
k=1 mod ¢ = 0 =3

Proof 4 k' =1 mod ¢ =
(9) &b

2P =y? mod ¢’

y? = —2Y mod ¢

2P =—2P mod @’

2P +yP = 2P mod ¢’
y? +yP =27 mod @’
2yP = 2P mod ¢’

(13) & b
2yP = —22P mod ¢’
2P — 2P = 2P + 227 mod ¢
0=3z" mod ¢
0=2P mod ¢ R OHIIRIZKT 5,

(11) LT, 3ROKHIZAFRTH 2,

2P +yP =2 mod ¢’
k' yP k5P = —k'2? mod ¢’
k/3n+1yp _kBntlp = _pBntlaep 64 @

0" —1=3n+1=
=1 mod?§#”

ZhiE (12) LK T %,
£oTO" =3n+2 DAEMHERIX, Ky L ko £ ks DATH D,
0" —1=3n

9’” =3n+1 @{jj‘ﬁﬁ@‘i\ ]ﬂl 7_é kz 7_é k3 if:ﬂj: kl = kQ = kg i)‘ﬁ) D’f%':éo
7272U k' #1 mod 6"



1.2 1L axyz
Proposition 5

ple , plyz = p'lz (nz2), P [L
Proof 6

Py —2P=0=p|(x+y—2)?
£oT pl(z—y) LEITB, —MHAIC

& = (2 ) (py SRS I T NI p'),y< . y>)

(»—2)21” U(p—1

2P = (L) (R)

j2 p!

R=py" + Y

U(p-1
P’ | R=plyPt&RoTULES D

PR
7z, p BBRSELICEALT

Definition 7 p | abc
o (14) &V z—y=pPtar
o (I5) &V z—a=0"
e (I5) &V a+y=c

(z—x)—(x+y) = —c
(z—y)—2x=b —c"=0 modp
plLEp|RIEDT, Alald p? | b —cF
pPlaP — 22 = —c? =0 mod p?
2

p |z

(x— (2 —y) =aF - WD _p!l)ll!xpl(z -y + TEDE ! )!2!:1:”72(2 —y)* - (

p—2
p!

"erx(z—y)p_l—(z—y)p

2P =(z—vy) pa? LEE, ERIZRAT S,

S e TP TEAC U Gt Vi

(16)

p!

p— 3)!3!:17

P73z — )P+

(z+y—2)"=(~y) <pa” S p!),w(z —y)P = (2 y)”‘1>

(p— D! U(p-1)

10



p! -1 p! -2 —1
K=paP — 2 .p ey P VP2 (P
L S T s s R ) (z=)
(16) £ 0 z = p?aa LB} ZHDT
(z—(z—y)’=(z-y- K
@aa prlab)? = pPlaP K
(pa o —pa D) =K
2pap( aP~ l)p:ppflapK
p+1( aP~ 1)p:K
p+1 |
(17) , pLa? &0
pt | K TRIFNIER S22,
£oT
Ple = P (z-y)
— Iz
Pt (n=22)=pP 2P = pMmTl|L
@-GE-y)=E-y K
(p"aa — pP""lal)P = pP el K
(p"a(a—p " h)) = p P K
pPraP (o — pPn 1-n,p— 1)p:pp 1P K
plo—pH ey = K
(a,pn(Pfl)*lapfl) J_p
P K
¥7-

ry—z=z—(:—y)

z+y—z=paa — pP" laP
T4y —z=p"(ac — p"PH1gP)

Pty —=z

11



1.21 plz

x =pTaa z—y=pl"laP
y=>bp z—x =10
z=cy r+y=cP
p L aayzS 2146

Proposition 8 z+z—y=p"aS , 6|S = § Layz
Proof 9
pn—1

r+z—y=plaa+p a?

_ pna(a +p(pfl)nflapfl)

pa? =R=py" ' + (2 —y)(...)
R=py?' moda
pyPt La
ala
§5|1S ,0laRolFPET S, £oT
0 Lx
2t=(+y—2)+@+z-y)
belaxty—z
x L be
§|bebiXd | 20 THRIFNIZRSTFET S, £oT
0 L be
S| B5IES|x+2
r=-—z mod§
2P = —2P mod §
2P 4+2P=0 mod
2P —2P =y?P =0 mod § DT
P + 2P — (2P —2P) =0 mod §
22 20 mod §

£oT 0L p
Sy , 0|z—yRoXFBRIZ

2 —yP + (2P +¢yP) =0 mod ¢
227 20 mod ¢
XoT 0L~y

12



r=a«a z—yza’p
y="bp z—x =107
2=y x+y=c"?
pLlddS(Xplz—z+y) 2146

Proposition 10 2+ z—y=d'S" |, 6|5 = § Lzyz
Proof 11
r+z—y=dd +a"?

:a/(a/_i_alpfl)

a? =R=py" '+ (z—y)(...)
R=py* ! mod d
py L

518" 6| d BHIEFETS, £oT
0Lz

2v=(z+y—2)+(@+z-y)

Ve |z +y—2
z Lbd
S|V m61E6 | 22 TRIFNIERSTFET S, £oT
5Ly

S| oiXé|x+2
x=-—z modd
2P =—2P mod ¢
2P+ 2P =0 mod
P —2P=yP =0 mod 6 %%DT
P + 2P — (2P —2P) =0 mod §
227 20 mod §

£oT oLp
S|y, 8| x—y & SIXFERIC
2P —yP + (2P +9y") =0 mod
22P 20 mod §
£oT oL~

13



IE\ xr,Y,z L:OL‘VC’EAL*H?E‘E‘;_%) ml,mg,mg(J_ 5) %4&%3_60 Oi D

—y +z =-x modd
—my1y “+msez = —mgr mod I
r -y =-—z modd
) &zHIZTdHL
T —y =—z modd
sz —t'z = —u'y modd

(—u'+1)y +(-1-5)2 =0—-t)r mod§

—u' +1=—-m; modd
vW=my+1 modéd
—1—§ =my mod$
s'=—-ms—1 modd
1—t =—-ms modd
t!=m3+1 modd

T, 3ROZHITERTH 3,

T —y =—z modd
(—m2—1)z —(mg+1)ax =—-(m1+1)y modd
—myy +moz = —msx mod ¢
x=-—myy mod §
mar = —mgmyy mod ¢

(m1+ 1)y = —mymsy mod §
(m1+1+mims)y=0 modJ

—y=mgz mod ¢
—myiy = mimoz mod
(=mg — 1)z =mymoz mod o
(mg+14+mimg)z=0 mod ¢

—z=—ms3x mod ¢
—moz = —mamsx mod §
(m3 + 1)z = —maomazz mod §

(m3+1+mamsz)zr=0 mod ¢

14



(18) & 1

—y=mgz mod ¢
—mgmiy = mimaemszz mod
msx = mimeomsz mod

z=mimomsz mod §

mimoms =1 mod §

2.3 mi=mo=m3 mod

1.
HSEOR m/ 12 & BAAIEEATREL T 5L (19) & D

(18) £
m'z = —m'>y mod &
—m'y =m/?*z mod §
—m'z=—-m>z mod ¢

THBENS (20) kb

m'z=m"2=2 modJ

3

—m'y=m®r=x mod J

—m'z=my=y mod ¢

r —y =-—z mod§/
-m'y +m'z = -—m'z mod§
&
2P = —m/Py?  mod &
y? = —m'P2’ mod ¢’
2 =m'Pz?  mod ¢
(9) &9

m? =k modd§ =
2 =ky? = —k'y?P mod ¢

m”? = -k mod § =
yP = —k'2P =k2P mod ¢

ZHIFATRIZK T 5, Z0%E. EDOHE m' 12X A HABIETE 2V,

15

(19)

(20)



1.3 MROFXHE
U, TIZOWTHli7z3TREREERT S,

2 +UzP"1 =Ty?"! mod 6

2+ U1 = TyP! mod 6

2P —yP+UzP1 = TyP! mod 6
P+ U2 = P4+ Ty mod 6
PNz 4+U) = yPHy+T) modb

PNy +yU) =

y-yP" Yy +T) mod 6

UzP~t . TyP~t = yPzP mod 0
UT' =yz mod¥6
(22) Z2HKA
Y UT+yU) = yP(y+T) mod 0
UzP~Y(T +y) y?(T +vy) mod 6
IR
22PNz +U) = yP Yyz+2T) mod b
P24+ U) = P HUT +2T) mod 6
PU+2) = Ty ' (U+2) mod @

5T (21)(22) =

UzP~t=yP mod @
Ty*~! =2P mod 6

or

UzP~l=—27 mod?¥

Ty? ' =—y? mod @

16



U, TIZOWTHl T REMREERT B,

U'yP~t 4 TPt = 2P

U'yP=t 4 TPt
—gP 4 TP
A (A

—2PHay = T'y)

U/ypfl . T/.Tp71
U/T/
(24) & RA
71,1)71 (U/T/ o T’y)

~T'zP~ YU — )
T/:L,p—l(y _ U/)

IR
—z 2Pz - T)
—aP(z —T")
2P (T — x)
- T (23)(24) =
U/ypfl
T'aP~t =
or
U/yp—l

TP~ 1

mod 6

mod 6

mod 6
mod 6
mod 6

.’L‘p + yP
yp _ U/yp—l
iy -U")
vy y-U")

mod ¢
=2y mod 0

= xPyP

mod 6
mod 6
mod 6

Py —U")
Ply = U")
Ply —U")

ASE SN

y?"(zy —2U’) mod @
y?"HU'T — 2U’) mod 0
U'yP~Y(T' —x) mod 6

mod 6
mod 6

mod 6
mod 6

17



1.4 MEOFRHE

Proposition 12 7 z )V ~v— DOt & id, AT 2{li7ZTHDTH 5,

o (8) ®2 R & FfE

e (4)
o &s,tul
(8) 5

T4t

>N

8

2Pl 4P =

(u—y)y? '+ (2 — 5)z"!

uy?” ! mod 6

(t+x)zP~! mod 6

z+z=y mod §IZDOWVWT T = )V~ —DMEEMLERHNS,

o 2P + zzP~ ! = y2P~! mod §

o P!+ 2yP~ 1 =¢yP mod §

o 22P71 4 2P = 92,71 mod §

£oT

(8) LT %,

y(u

"

18

P +taP™! = (t+2)2P7! mod
t = 2z mod§
uyP ' —(u—y)yP! = ¢y mod s
u = x modd
—(z—=8)2P" 42 = 527! mod 4
s = y modd
2P 4zazP~! =yzP"! mod
—zyPt +yP =zyP"! mod
yzP7t —zzP71 =2 mod
P +yP =27 modé
5"z +t'x =u"y mod§
—yP Y 42(zP =) =2(@P ' +t”) mod

(28)



s, t,uDILBETHD 520 2HRT 5,

P!
2Pl Pl
2P gP

(27) ZRA
2Pl =
P
P e
Pl =
zaP~t =

y
yp—l — Pl
yp—l _ b1

(25) ZHRA
gl gl =
yp—l — Pl =
Yt — gl =
gl =
xyp_l =
2P~
=1 g ypt
Pl ypl
(26) ZRA

Zp—l _|_yp—1
prl _’_ypfl

2Pl gyt

2Pl

yP !

_1:

= 7' —5" mod§
= s mod &
52’72 mod &
yzP~2 mod &
(z+2)2P"? mod §
2271 4 22772 mod §
272 mod §
—z2P7' mod ¢
= 27714+t modé§
= t” mod §
= tzP~2 mod &
22?2 mod §
(y — )2~ mod &
yzP~2 — P71 mod §
yazP~2 mod §
yzP~' mod §
= o —y""! modé
= u” mod §
= wy?~? mod §
zy?~? mod §
(y — 2)y*~% mod &
yP"t —zyP™2 mod §
—2zy?~2 mod §
—zyP~1 mod §

PAEX D, (28) 137 = b~ — DB 22T,

19



1.4.1 my £ mo Zm3 mod §

2P 4zazP~! =yzP"! mod
(21)(22) £ 9
zeP~ . yxP~t = yP2P mod §
(mp’l)2 =y 12,71 mod §

—zyP7l 4P =zyP! mod §
(21)(22) #&H 1T
—zyP~ o ayPl =2P2P mod §
(yP*1)2 = 2P 1271 mod §
yzP7t —x2P71 =2 mod 6
(23)(24) £ 1
yzP~t . —x2P~t = 2Py? mod &
(zp_1)2 = 2P 1y~ mod ¢

20
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(31)



(29)(30)(31) &£ v

- (xp_1)3 = (yp_1)3 = (zp_1)3 mod §

0 =)’ = ()’ = P (ET P 4 (PN mod 6
0 =@ )’ + @)’ =@+ ) (@) =P P 4 (1P )?) mod 6
0 n

= (m”_l)g (z”_l)3 = (2P 4 2P ((@P 2 — 2P (2P7H2) mod 6

P +y? =2 mod 3

3layz=2x+y=2 mod3
r==41 mod3
y =41 mod 3
z=7F1 mod 3
d#3

£oT

L=0 mod?id or R mod §

Il
o

1.4.2 R=0 mod
(@ )2 + (P2 + (" )2 =0 mod 8
(aP71)2 — P 1zpml P lyp=l = mod §
2Pl — 2P P~ =0 mod§
2Pt Pt =271 mod §
7 2V — DM NS,
o P —zyP !l =22~ mod §
o zxP~l — zyP~1 = 2P mod §
° yggpfl — yp = yZp71 mod 0
2P —xyP = 22P71 mod §

—zyP" ' =9? mod § =

221 =2 mod § =
2PyP L § 72D T

—xZy modd
xZ%z mod§

21



szP7t 4 taP ™t = uyP~t mod 0

(w—1)y" '+ (z— )2 ' = (t+2)z"~' mod 0

2P — 2Pt =2yt mod §

2P 4 (z—8)2P P =uyP™! mod §

z=u modd

z—s mod d

—ZT

z—y=z—s modd

y=s modd
(4) &b
t=2z mod ¢
(8) &9
(u—y)y? ' +teP P = 2P mod §
(x—y)y? + 2Pt = 2P mod §
—zyP 4 22?7 = 2P mod §
(8) &b

(t+x)zP~ ! —9? =527"1 mod &
(z4z)2P™! —yP =y~ mod §

yeP~l —yP = yzP~1 mod §

Plb&bv, 337 2~ —DMmESLMIINIGT 5,

2 +y? =2 mod
2P —zzP! = zyP"! mod
—zyP 4z22P7' =P mod §
yP~! +yP =yzP"! mod 6

Eo>TR=0 mod$é
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(21)(22)(32) £ v

—2?2 =yz mod &

z? = —yz mod

(29) £ b
(xp71)2 = ypflzpfl

(@)t =yt

(o)~ =yt

yp—lzp—l = yp—lzp—l
Tt 2727,
(23)(24)(33) &

—22 =2y mod§

22 = —zy mod
(31) &b
(Zp—l) _ l,p—lyp—l
(22)17*1 _ _xp—lyp—l
()™ = —ar
gP~lyp=l = _gplyp-l

CHIRATIRIZN T %,

(21)(22)(34) £ b

y> =2z mod§

(30) &9
(yp—1)2 L
(y2)p*1 — _gp—l,p-1
(z2)P "t = —gP 1!
PPl = _gpmlp—l

Z TR ICK T B,

£oTod=2
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mod §
mod §

mod §
mod §

4]

mod §
mod §

mod §
mod §

mod §
mod §

mod §
mod §



1.43 2|z , 21lyz

S=2pr &
z+z—y=pa2

ol =2 =y = (z—y)py" T+ (- y)(- )

2| L=pmta?
2| a

2 1L R=pa®

2 1«

ety = pna(a +p(p—1)”—1ap—1>
2k; — +p(p71)n71ap71 — odd
20=1

bi))b\ a+p(p71)n71ap71 > 1 @@VC“%@@—E}O

S =2kmrx
r4+z—y=a2"

ol =2 =y = (2 =)y’ + (- y)(-)

2| L=a"”
2|ad
21 R=a"”
2.1 a

r+z—y=d( +aP™)
2k — o/ + a1 = odd

20 =1
LU, & +aP ' >18DTHET 5,

2|y , 21lazDEERy+z—1x
2|z, 21layDeEE s+ a+y CTHROEEZES,
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